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=�"� �I, � =�A�� $������ � L�� �� �� M�: 9C�, $� =�"� L�� =�� ���� 9� �%�� �
 ���I =�� $� M���"
�� �"� NO�� � 7�K����� � ���	 =M���	 �� �"� 7����� 9� ���+ 7, 4�A�� $��P��� � �I, �� �� >: 9C�, $�

47�K���� Q�3�� 2�
�D� =M13�
RA�%� 	�A �� =R�S�� �� T� �� 
	 7�	�K ���U� V �I � W�D/� �
 R���B � �!� � M���" X������I
��" ��K , �
 R%�# � �� �	�� R���E� 9Y�, �� 0	�Z� 7�NE� � =�� �	�� �-� �� 9� ���	 
	 9� $��� �!6� 9�
9� �N�[ NK�� �� 
�	 ��� =��, M�: �� �� 9� �8�	 
�� �� �� � 
�	 L�\.� ����] 9� �
 R�1� � �"����I 9�

4�"�� ^�%E� 9Y�, �A�%� 0���:�� � RA�� 9�A��� �"�	 =�"� 7, 
	 �� �U@
� 9O�� =����� _3�� N�� 9��� 7���: ��� =	��K �!� _`A ��N��
 � 2
�.� � �!�� 7��� ��B� a�� ���b�
� 96" �� �A
� �"��A
�� c-b� 
	 2�� 0�!� 9� =�!���
 	��"� 7���� 9� ���
�� ��� ���	 ��#, ^��O 2
�d�
	��"� � �	�!� ��� ��P� �
 �� 7�A	�I �#?I� � �!�� 2����&� �� �	�.K $��
 �� � �#��3 L�!� 
	 � 
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��#, ^��O �� � 9��� 7���: ��� 
	 7�.��!�� � $��!���
 �PO 9� 0
��.� 	��"� ���Y!� � 0
��K
N� ��!���

	�!E� ���	 ��#, ^��O �� N�� � ��� 9�F�K ��P� 9� �
 9��� 7���: ��� �
��	 �!�� 9� ��1�U@ R"�# ���� ���	
7��� 0�%� 0�� 0� �	�!� R�� ��� 7�A�UE� 
	 9� �����"� g� g� �� R���/� �K� 4R��"
 0�&�� 9� �
�`A
��� � ����!� R�# �� 7�K
N� �� �U6� ��+ 7	�C� �
�� �%" 9� ��� 9[ � �%�] �� ��8�	 �3�F � �O TA
��� 
	 �� �8�
�� 9� RA�� ���N�N� 0�!� 
�N8"�f" R��	 �� 0�S 	�I �� 	�O� ��� �� =�"� 
�	 9� ^	� �� ���

4��� �	�� _�DE�
R�K��� 
	 RP� ��� 7���
HK 	�%� 7��, 2�!�� �K� 9� 0��!� � �	����I ���Y!� � 0N�N� 
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'( 4 4 4 4 4 4 	
���	��
����� ������� � ������� ^�E� � ^�E� c���� �� � Q�
�6� '4'
'( 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 ������� ��� 0�� � 9� �� Q�
�6� '4'4'
*' 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 ���%O
C∗ � �%O *4'4'
*h 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 	
���	��
����� ������� � ^�E� c���� (4'4'
(h 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 2�%��� ����UF ��
 ���8�!� �� $��� �Ki�� *4'
(h 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 
������ � �-I ����8�!� '4*4'
() 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 
������ �8�!� T� ��
 �� �� 9�!O ��[ *4*4'
jj 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 ^�E� c���� ���� $��� ������� (4*4'
hj 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 ���\�� ��[ ^�E� �8�!� c���� k4*4'

.8 �9��*�! :�)! ;<��* =��< 
��!�
� >%2!� ?�� =� =��9!�� 4
h) 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 ������� ^�E� c���� '4*
l( 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 fo det c��� ���� 	
���	��
����� ������� R�!6� *4*
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���� n�
 =^�E� �8�!� c���� =^�E� c���� =	
���	��
����� ��� ������� E� �D�� �2�#
�i�� ��	�b�=T�
�`�:


	 ���� � R��	 �� 9p�
� 	
���	��
����� q�� �� ������� � ��8�!� ������� ��[ �����E��2�M
T�
�`�:
���� n�
 ��K 7, 4R��� �� ���: �� >����� ��
 ���`� ^�E� c���� ���� �
 �����K��
��	��
�� �I�� ���[ R� 4R��� �� 
�� 9� ^�E� c���� ���� �8�!� ���� 7	
�, �"	 9� ���� �

�A�Z� =^�E� �8�!� c���� ���� �
 	
���	��
����� ������� ���P� 
	 4R��	 �� 9p�
� �

�"	 9� =���� �� _!� �6% � ������ 2�%��� ��UF ��
 9� �
 $����8�!� � �%r� �-I ���

4R�
�, ��
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���� �F�� � 0�S s�A T� � 	
�	 ��P� 9� ^�E� c���� � 9��d� 
	 �!P� Mb� 	
���	��
����� �������
����� t"�� ����� ��� �"�"� ������� 4�A�� ^�E� �b�b� 	���� �� ���� T� 
	 �� ��� �� R���F c��� T�
������� 7���� 9� � �.� �
�A� 9&��� ��� 9� �G��
 7��� �� T� a�� 
	 ��� =��, �"	 9� ���� L�" 
	
_b��� 
�] 9� � �A �.��� �����b� L��
�u T� 
	 ���� L�" 
	 ��� =�F��� 
�.��� c�"� 
�] 9� �����
c���� � 9��d� � v�
�� 
	 9��O�� VD/�� ' wx�%�`�w 4��"
 2�%B� 9� ���� L�" 
	 	
���	�� t"��
���� L�" 
	 4�"� ��A ���B ���� L�" 
	 	
���	�� � 9��"� 9� ������� ��� 9� ��� �� 7��� ^�E�
	
���	�� ������� 9� 
��H� ������� 7�[ =	�� ���: �G��
 � 9�&� T� 
	 �
 ����� 9�A�� * wa���������w
������� �B� ��� 
	 4�"� ��A �%B 	
���	��
����� ������� 7���� 9� 7���� ������� ��� =	�� ��A y��6�

z�A�� �� ��� 2
�3 9� 	
���	��
�����

(y − x)f

(
x+ y

�
)

≤
∫ �

	
f(t)dt ≤ (y − x)

f(x) + f(y)

� ,

�� ��!/� �
 ��Z���� 
��b� c��� �� 9F�] �	 	
�, �� T� � �"� [x, y] � ���� ��
 ^�E� c��� T� f 9�
9-��
 9� 	�� ����.� 7��� �� ���", 9� =�A�� ^�E� �-I ��UF T� �� [a, b] � ���� ��
 f ��K �� 4���

{|}~|���}�'

���������}*
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z�"� ��� � 9��K �	 ������� �
� R� S��

f

(
a+ b

�
)

≤
∫ �

	
f(ta+ (�− t)b)dt ≤ f(a) + f(b)

� .

����[ ��I� ��� 9�	 �] 4	
�	 x���� ����UF 9"��� � �-I ��@ N� ��, 
	 	��
�� ����[ ��F �������
9� 7�K���K ��� ^�[
�[ 
	 f c���� ���� =���� �� ��3 ������� ��� 
	 9� $��� L���F � � �O R�!6�
w����K�
	w 9� 7��� �� �� 7, 9�!O �� =��� 9�I�	�: ��F ������� 9� ���I� �	�6�� 7�����G��
 4��� ���, �"	
���� ����K�
	 ���I� 4�"� ��A �.��� �G��
 Q��/� ��� L��
�u 
	 �� �� ������F 2S�b� 9� 	�� �
�A� (

��� 
	 �� >����� N� ��, �b�b� 
	 4�"� �	�	 9p�
� ^�E� �8�!� c���� ���� �
 �� ������� ��� �� �8�!�
7�A	�I L	�6� �	�� ��� ������� �� � �O ������� �� ���� ��� ������� �U6� 9� =	
�	 �� �6F 9-��
������ 2�%��� ��UF ��
 9� $��� �8�!� ���� �� ������� ��� �"� �`!� 9� �
�] 9� 4���, �� �"	 9�

	 7��� �� �
 ;������ ��� >�����< �#�E �	�I ����8�!� 	
�� ��� 
	 4��A�� 
��#�� =���� �� _!� �6% �

4��A�� �� �b�b� 	���� �� R�!6� T� 9� =�F�K �d�
4R��	 9p�
� 2�%��� ����UF ��
 
��H� ������� �� �!�!6� 9� =�"� ��� y�� 9��� 7���: ��� 
	

zR��� �� 7��� _DF 9" � �# 
	 �
 9��� 7���: ��� ��� 
�] 9�
L�� M/� 
	 4R�
�	 ���� �� 7, 9� �6� _DF �	 
	 9� R�� 9�I�	�: �!���1� � Q�
�6� 7��� 9� L�� _DF 
	
��A 7��� ^�E� c���� � ���%O
C∗ =	
���	��
����� ������� =�� >����� =�� 0�� �� s�%�
� 
	 �!���1�
=^�E� c���� ���� $��� ������� =
������ �8�!� T� ��
 �� �� 9�!O ��[ =�� �8�!� 0�	 M/� 
	 � �"�

4�"� ���, ���\�� ��[ ^�E� �8�!� c���� � T�
�`�:
���� 9�U#
M/� 
	 4R��	 �� 9p�
� ^�E� c���� ���� 	
���	��
����� ������� �� ����O R�!6� =0�	 _DF 
	
�� ����O q�� ���P� 
	 4R��� �� �"
�� g(A) = f(det(A)) ������� c��� ��
 �
 ^�E� =��/�

4R��� �� �"
�� g(t) = f(det(A(t))) c��� ���� �
 
��H� �������
�� 9p�
� 	
���	��
����� q�� �� ������� � �8�!� ������� ����[ =�A�� �� M/� �	 9� �I, _DF 
	
4R��� �� 2�%B� �
 �"� �� >����� ��
 ���`� ^�E� c���� �����K�� 
	 9� �� 9��!� L�� M/� 
	 4R��	

�4 �4 ��������(
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	 � 4R��� �� �	�1�"� ^�E� c���� ���� �8�!� ���� 7	
�, �"	 9� ���� T�
�`�:
���� n�
 �� ��K 7,
9� $����8�!� � �%r� �-I ��� �A�Z� =^�E� �8�!� c���� ���� �
 	
���	��
����� ������� ���P�

4R�
�, �� �"	 9� =���� �� _!� 2�%��� ��UF ��

4�"� ���, [��] 
	 =9��� 7���: ��� 
	 ��3� 9 �b�

4�"� ���, 9��� 7���: ��� 
	 �	�1�"� 	
�� � 9��� ^��� � �"
�F 9� ����Z�� 9��� �u�� �I, 
	 �
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� ����K �� 
��# �	�1�"� 	
�� 9��� 7���: ��� �6� ��� _DF 
	 9� �"� $����U# � Q�
�6� _��A _DF ���
��UF 7, �� >: � �� >����� W�DI 
	 $% �-� �
�,	�� 9� L�� M/� 
	 4�"� 9�F�� _�`.� M/� �	 ��
�� 	
���	��
����� ������� � ^�E� c���� =������� ��� 0�� � �� 0�� =2�%��� ����UF =��I�	 ^�G
4�"� 9�F�� _�`.� �!�# 
�P[ �� =�A�� �� �
�	 �
 ���8�!� � �
��
	 �"�"� � �-� 9� 0�	 M/� 4R���	�:
�
 ^�E� �8�!� c���� � �%r� ����8�!� =
������ � �-I ��� �8�!� �� 9-��
 
	 $% �-� L�� �!�# 
	
^�E� �8�!� c���� ���� $��� ������� =
������ �8�!� T� ��
 �� �� 9�!O ��[ 7, �� >: 4R�� �	�!� 7���
2�%B� � R�� �	
�, 2�%B� �� �
 ���� 	
�� ����U# �U6� ���[ R� 4R�� �	�!� 7��� �
 ���\�� ��[ ^�E� c���� �
([�], [
], [��], [��]) 
	 ������ �� �
 _DF ��� ����U# 2�%B� � � �-� 4R�� �	�	 q�O
� �
 ���U# �U6�

4����%�
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��!�
� >%2!� =��9!�� � �9��*�! :�)! � :�)! ;<��* N� = 6���7* 3O3

>%2!� =��9!�� � �9��*�! :�)! � :�)! ;<��* N� =6���7* 3O3

��!�
� 

4R���	�: �� =��
�	 	��
�� �6� ��� _DF 
	 9� ���U# �U6� � ���� 	
�� �"�"� R���1� 7��� 9� _DF ��� 
	

�9��*�! =� ��� � �2��� 6���7* 3O3O3
	�O�� 	 �= u ∈ Cn 
�	�� ��K �� R���K A =n× n >����� ' �i�� 
��b� T� �
 λ � �`"� O3O3O3 6��7*

4R���K λ �i�� 
��b� �� ������ * �i�� 
�	�� T� �
 u 
�	�� 4Au = λu 9� �
�] 9� =�A��

Sp(A) �� σ(A) �� �
 7, � R���K A ( Q�] �
 A >����� �i�� ��	�b� � 9!� 9��!&� O4O3O3 6��7*
4R���K A �1�] q�6A �
 ρ(A) = max{|λ|;λ ∈ σ(A)} �%r� �b�b� 	�� 4R��	 �� M��!�

4�A�� 	 ∈ Sp(A) �K� tbF� �K� �"� ��C� A =n× n >����� O3O3O3 �P2��

c��� ��K�� =R���� �� F 7���� ��
 �
�	�� ��UF T� �
 V z ;�
�	�� ��UF< OAO3O3 6��7*

z�A�� ��� W��I ��
�	 (α, x) �→ αx � 9-��G �� f : F × V −→ V

�(α + β)x = αx+ βx (α, β ∈ F, x ∈ V ) 4'

�α(x� + x�) = αx� + αx� (α ∈ F, x�, x� ∈ V ) 4*

�α(βx) = (αβ)x (α, β ∈ F, x ∈ V ) 4(

4� · x = x (x ∈ V ) 4k
���|� ����|'

���|� �|}���*

��|}����(
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� >%2!� =��9!�� � �9��*�! :�)! � :�)! ;<��* N� = 6���7* 3O3

� t��/� � �� 9��
	 �� �� >����� � 9!� ���� ����� 9� Mn(R) � Mn(C) ���	�!� �� ����� �&��� 
	
9��
	 �� �� >����� 7�!� 
�d�� =�A �	�1�"� Mn 	�!� �� 
�D�I� 9� �O �� 4	�A �� �	�1�"� 
��b� �b�b�

4�A�� �� t��/� � ��
z��K 7, =��A�� Mn(C) �� Mn(R) 9� 5�6�� A,B 9� ��� ��F ��

�AT = A ��K�� �"� 7
�b�� A >�����
�AT = −A ��K�� �"� ��
7
�b�� A >�����

�A∗ = A ��K�� �"� ������ A >�����
�A∗ = −A ��K�� �"� ��
������ A >�����

�A∗A = AA∗ ��K�� �"� L���� A >�����
�AAT = I ��K�� �"� ���6�� A >�����
�A∗A = I ��K�� �"� ���`� A >�����

��A�� x∗Ax > 	 =x ∈ Cn �13�� 
�	�� �� ���� ��K�� �"� k �%r� ��6� A >�����
4�A�� x∗Ax ≥ 	 =x ∈ Cn �13�� 
�	�� �� ���� ��K�� �"� j �%r� ��6� 9!�� A >�����

z��K 7, =��A�� A,B ∈Mn ��K ��

4����� ������ A ∈Mn �� ���� 9!� A∗A � AA∗ =A+ A∗ 4'

N�� ��C� ��@ A ��K �� 4�"� ������ (k = �,�, ...) �� ���� Ak ��K 7, =�A�� ������ A ��K �� 4*
4�"� ������ N�� A−� ��K 7, =�A��

4�"� ������ αA+ βB =α, β ∈ R �� ���� ��K 7, =��A�� ������ A,B ��K �� 4(

4�"� �� ������ A− A∗ =A ∈Mn �� ���� 4k

4�"� �� ������ aA+ bB =a, b ∈ R �� ���� ��K 7, =��A�� �� ������ A,B ��K �� 4j
�������| �|�����|k

�������| �|���|�����|j
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4�"� �� ������ iA �������� =�A�� ������ A ��K �� 4h

4�"� ������ iA ��K 7, =�A�� �� ������ A ��K �� 4�

=9� 	�A 9�A�� ��� _`A 9� ����� �� A ∈Mn >����� �� 4l

A =
�
�(A+ A∗) +

�
�(A− A∗) = H(A) + S(A),

4	�A �� 9�1K A �� ������ �!�# S(A) � ������ �!�# H(A) 9�

4����� �b�b� ��3� �-# ��� 9��
	 =�A�� ������ A ��K �� 4)

4����%� [��] 
	 ������ �� �
 ��� � 9�U# �	 2�%B�

2
�3 ��� 
	 =�A�� ������ A ∈Mn ���� ��F O3O3O3 �2RS

4�"� �b�b� x∗Ax =x ∈ Cn �� ���� 4'

4����� �b�b� A � �i�� ��	�b� � 9!� 4*

4�"� ������ S∗AS =S ∈Mn �� ���� 4(

A 2
�3 ��� 
	 4�A�� A ∈ Mn ���� ��F 4;������ ��� >����� ���� �1�] 9�U#< O4O3O3 �2RS
9�A�	 	�O� Λ ∈ Mn �b�b� ��-# >����� � U ∈ Mn ���`� >����� �K� tbF � �K� =�"� ������
�b�b� ���6�� >����� �K� tbF � �K� =�"� ������ � �b�b� A � �A�� A = UΛU∗ 9� �
�] 9� =��A��

4�A�� A = PΛP T 9� �
�] 9� =�A�� 	�O�� P ∈Mn

c��� 4�A�� F ; t��/� �� �b�b�< 7���� ��
 �
�	�� ��UF T� V ���� ��F OQO3O3 6��7*
z�A�� 
��#�� ��� t���A x, y ∈ V �� ���� ��K �� =�"� 0�� T� ‖.‖ : V −→ R

�‖x‖ ≥ 	 4'

�x = 	⇐⇒ ‖x‖ = 	 4*



3. 
��!�
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�c ∈ F � �`"� �� ���� ‖cx‖ = |c|‖x‖ 4(

4‖x+ y‖ ≤ ‖x‖+ ‖y‖ 4k

4	�A �� ������ 0�� R�� T� =��� ��3 0�	 s�A NO 9� S�� t���A 
	 9� �6���

4�A�� ��A Q��6� 7, ��
 0�� T� 9� �"� �
�	�� ��UF T� =V 
�	 0�� ��UF OIO3O3 6��7*
4�"� h x���� ��UF �� _��� 
�	 0�� ��UF T� �A�� ��8!� 7, 
	 �.� 9 �%�	 �� 9� $��UF

� 9!� ��UF �
 B(X, Y ) 4��A�� F � �`"� 7���� ��
 
�	 0�� � �
�	�� $����UF Y � X ���� ��F

�	 0�� �
�	�� ��UF T� B(X, Y ) 4R���K �� �d� 
	 Y 9� X �� ;9�"��:< 
������ � �-I ��� �A�Z�

=	�A �� �F�6� ��� 0�� �� 9� �"�

‖T‖ = sup{‖Tx‖; x ∈ X, ‖x‖ ≤ �}.

X 7�K�	 ��UF =	�A �� �	�	 7�.� X∗ �� 9� B(X,F ) 4R��� �� 
�� 9� B(X,X) ��O 9� �
 B(X)

_��� B(X, Y ) =�A�� _��� Y ��K �� 4��A�� �� 9�"��: �-I ��� g6��� =7�K�	 ��UF �3��� 4	
�	 0��
4�"� _��� �
��!� X∗ 7�K�	 ��UF �i�� 9� 4�"�

^�G 〈., .〉 : V × V −→ F c��� 4�A�� F 7���� ��
 �
�	�� ��UF V ���� ��F O.O3O3 6��7*
z�A�� 
��#�� ��� t���A x, y, z ∈ V �� ���� ��K �� =�"� ��I�	

�〈x, x〉 ≥ 	 4'

�x = 	⇐⇒ 〈x, x〉 = 	 4*

�〈x+ y, z〉 = 〈x, z〉+ 〈y, z〉 4(

�c ∈ F � �`"� �� ���� 〈cx, y〉 = c〈x, y〉 4k
{���}� ���}|h
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4〈x, y〉 = 〈y, x〉 4j
4	�!� ����.� [��] 
	 7��� �� �
 ��� 9�U# 2�%B�

7���� ��
 � V �
�	�� ��UF ��
 ��I�	 ^�G 〈., .〉 ��K �� z;� N�
��A
�.� �������< OAO3O3 �2RS
��K 7, =��A�� F t��/� �� �b�b�

|〈x, y〉| ≤ ‖x‖‖y‖,

�� ���� ��6� =��A�� �-I 9����� x, y 9� ��F� �� ��1�� ����� ������ 4�"� 
��#�� x, y ∈ V �� ����
4�A�� y = αx �� x = αy =α ∈ F

4�"� V ��
 0�� T� ‖x‖ = 〈x, x〉 �� ��K 7, =�A�� ��I�	 ^�G T� V ��
 〈., .〉 ��K �� O4O3O3 �P2��
��A �� �� 0�� 9� �%�� V ��K �� =R���� �� l 2�%��� ��UF �
 V ��I�	 ^�G ��UF O@O3O3 6��7*

4R��	 �� M��!� H �� S�!6� �
 2�%��� ��UF 4�A�� _��� ��I�	 ^�G T� t"��
=R��� �� Q��6� ��� 2
�3 9� � �!6� ��I�	 ^�G �� �
 Cn O3O3O3 T�U!

〈x, y〉 = x�y� + ...+ xnyn, ;'4'<

0�� �� ���[ R� 4�"� ��I�	 ^�G ��UF T� x = (x�, ..., xn), y = (y�, ..., yn) ∈ Cn 7, 
	 9�

‖x‖ =
√
|x�|� + ...+ |xn|�,

4�A�� �� 2�%��� ��UF 9&��� 
	 � _��� 
�	 0�� ��UF T� =	�A �� �� �� ��I�	 ^�G � 9��"� 9� 9�
��� t���A A,B ∈Mn �� ���� ��K �� =�"� ������� 0�� T� |||.||| :Mn −→ R c��� O8O3O36��7*

z��A�� 
��#��
���}��
�}����� ��|��������

 ���|�� ���}|l
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�|||A||| ≥ 	 4'

�A = 	⇐⇒ |||A||| = 	 4*

�c t��/� ���� �`"� ���� |||cA||| = |c||||A||| 4(

�;�6!O ��� ��3�I< |||A+B||| ≤ |||A|||+ |||B||| 4k

4;$��G ��� ��3�I< |||AB||| ≤ |||A|||.|||B||| 4j

9� �"� c��� T� �� >����� ��
 0�� T� 4����� L	�6� �
�	�� 0�� �� (�− �) ��� �Ki�� 9� ���� 9O��
4	�A �� Q��6� 0�	 s�A yH� �� R� 0�� R�� 0�P1� 4��� ��3 ��F t���A 
	

�� Mn ��
 �
 ;������� 0��< |||.||| 4�A�� Cn ��
 0�� T� ‖.‖ ���� ��F O/O3O3 6��7*

|||A||| := max
‖x‖=� ‖Ax‖,

4R��� �� Q��6�


�] 9� U, V ∈ Mn 9`� >����� �� � A ∈ Mn >����� �� ���� Mn ��
 |||.||| 0�� O3BO3O3 6��7*
z�A�� 
��#�� ��� 9-��
 ��K �� =	�A �� 9�1K ���: ���`�

|||UAV ||| = |||A|||.

��� 0��
k 4���A �� �	�	 7�.� ‖.‖k �� 9� ����� �F �� ��� 0��
k =���: ���`� 
�] 9� ��� 0�� 9�!O ��
�
�] 9� =���A �� Q��6� ‖A‖k =

∑k
i=� Si(A) 2
�3 9� � ��A�� �� ‖.‖k : Cp×p → R �� �F ��

4��A�� �� A �� ��C� ���	�b� � S�(A) ≥ ... ≥ Sn(A) 9�
4	�A 96O��� [�] 9� 7, 2�%B� � ����.� ���� 9� =�"� ��� 9&��� M��!� ��3� y��


�] 9� ��� 0�� ���� ‖A‖ ≤ ‖B‖ 2
�3 ��� 
	 =A,B ∈ Cn×n ���� ��F ;) �F ��< OQO3O3 �2RS
¡� ¢��)
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4�A�� ‖A‖k ≤ ‖B‖k =k = �,�, ..., n �� ���� �K� tbF � �K� =�"� 
��#�� ���: ���`�

9� ��� V�/.� ���� 4����� �
�	�� ��� 0�� �� $��� 9��!� p = �,�,∞ ���� lp ��� 0�� O4O3O3 T�U!
z	�A �"
�� �I, s�A �"� �F�� =����� ������� 0��

=R��� �� Q��6� ��� 2
�3 9� A ∈Mn �� ���� �
 l� 0�� 4'

‖A‖� =
n∑

i,j=�
|aij|,

���� =�"� ������� 0�� T� 9�

‖AB‖� =
n∑

i,j=�

∣∣∣∣∣
n∑

k=�
aikbkj

∣∣∣∣∣ ≤
n∑

i,j,k=�
|aikbkj|

≤
n∑

i,j,k,m=�
|aikbmj| =

(
n∑

i,k=�
|aik|

)(
n∑

j,m=�
|bmj|

)

= ‖A‖�‖B‖�.

q�!&� 9� �F�G� 2?!O 7	�� 9F�G� �� 0�	 �������� 	�A �� 9&��� £�r� ������� �� ������� �� ��
4	�A �� _3��

=	�A �� Q��6� ��� 2
�3 9� A ∈Mn ���� N�� 0�� l� �� �"���#� 0�� 4*

‖A‖� =
(

n∑
i,j=�

|aij|�
) ��

,

���� =�"� ������� 0�� T� 9�
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��!�
� >%2!� =��9!�� � �9��*�! :�)! � :�)! ;<��* N� = 6���7* 3O3

‖AB‖�� =
n∑

i,j=�

∣∣∣∣∣
n∑

k=�
aikbkj

∣∣∣∣∣
�
≤

n∑
i,j=�

(
n∑

k=�
|aik|�

)(
n∑

m=�
|bmj|�

)

=

(
n∑

i,k=�
|aik|�

)(
n∑

m,j=�
|bmj|�

)
= ‖A‖��‖B‖��.

0�� =e�������F 0�� 	�
 �� 
�� 9� �� >����� 
	 9� ����� 4�"� N�
��A
�.� ������� =������� ���
=�A�� A = [a�a�...an] ∈Mn ��K �� 9� ���� 9O�� 7���� 4	�A �� ������ 2�%��� 
��!A� 0�� �� =
�A

2
�3 ��� 
	 4���A �� 9�A�� ai ∈ Cn ����" ���
�	�� 2
�3 9� 7, 2?!O

‖A‖�� = ‖a�‖�� + ...+ ‖an‖��.

��6� =�"���: ���`� 
�] 9� �A�� 9`� U � U ∈Mn 9� ���Z�� Cn ��
 l� 0�� �
 ��� ��

‖UA‖�� = ‖Ua�‖�� + ...+ ‖Uan‖�� = ‖a�‖�� + ...+ ‖an‖�� = ‖A‖��.

�� 9&��� =����� 9`� U, V � U, V ∈ Mn 9� ����� =‖A∗‖� = ‖A‖� 9� ��� �� A ∈ Mn �� ����
9� R���K

‖UAV ‖� = ‖AV ‖� = ‖V ∗A∗‖� = ‖A∗‖� = ‖A‖�.

4�"���: ���`� 
�] 9� Mn ��
 l� 0�� ��������

z	�A �� Q��6� ��� 2
�3 9� A ∈Mn ���� l∞ 0�� 4(

‖A‖∞ = max�≤i,j≤n
|aij|,


